
What do witches put on their hair?

1. 8 + x = 16 2. 2x – 8 = 6

3. x – 10 = 0 4. 4 + 3x = 7

5. 2x + 5 = 9 6. 4x – 4 = 16

7. 9 + 2x = 17 8. 6 + 2x = 24

9. 3x – 6 = 3
10. 3x + 5 = 23
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9 92 8 8 65 54 1

Beginning Algebra 

Solve for 'x'. Write the corresponding letter in 

the space below that matches your answer.

8 + x – 8 = 16 – 8
x = 8

x – 10 + 10 = 0 + 10
x = 10

2x – 8 + 8 = 6 + 8
2x = 14
2x/2 = 14/2
x = 7

4 + 3x – 4 = 7 – 4
3x = 3
3x/3 = 3/3
x = 1

2x + 5 – 5 = 9 – 5
2x = 4
2x/2 = 4/2
x = 2

4x – 4 + 4 = 16 + 4
4x = 20
4x/4 = 20/4
x = 5

9 + 2x – 9 = 17 – 9
2x = 8
x = 4

3x – 6 + 6 = 3 + 6
3x = 9
3x/3 = 9/3
x = 3

6 + 2x – 6 = 24 – 6
2x = 18
2x/2 = 18/2
x = 9

3x + 5 – 5 = 23 – 5
3x = 18
3x/3 = 18/3
x = 6
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